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1 HE R 46 52 98 29.0 69.0

2 Bl BE 49 47 96 2.0 72.0

3 T 49 48 97 2.0 73.0 BG A-1I
4 HE &3 45 43 88 13.0 /5.0

5  HEZA B 49 48 97 22.0 75.0

6 Il & 43 42 89 10.0 /5.0

7 HE =B 48 46 94 18.0 76.0

8 HE BE 43 48 91 15,0 76.0 BGA-I
9 = FF 46 o1 97 21.0 76.0

10 fE  FRah 41 50 91 15.0 76.0

1 KE EEE 51 48 99 23.0 76.0

2 BY #{C 49 50 99 22.0 71.0

13 B #E 39 44 83 6.0 1.0 BG B
14 AT 39 46 89 1.0 18.0

15 Bkl BAT™ 48 58 106 271.0  79.0

16 B ERMF 50 52 102 23.0 79.0

17 KA FE— 53 50 103 24.0 79.0

8 ZE EX 50 5] 107 27.0  80.0

19 ARl E 50 53 103 23.0  80.0

20 X% EE 43 43 91 11.0 80.0

21 NI ERE] 49 59 104 23.0 81.0

22  BXK IE— 52 50 102 21.0 81.0

28 FR ZEEH 49 47 96 15.0 81.0

24 BHAN F— 45 49 94 13.0 81.0

25 KR XH#H 52 58 110 29.0 81.0

26 M HF 58 59 117 36.0 81.0

21 KRR BX 59 59 110 29.0 81.0

28 MF F—EAR 59 56 111 29.0 82.0

20 EiE R 52 48 100 18.0 82.0

30 FF T 47 46 93 10.0 83.0

31 HAH Bk 57 52 109 20.0 84.0

2 A M@ 50 06 106 22.0 84.0

33 JtE KX 46 48 94 10,0 84.0

M BH B 41 o1 92 1.0 85.0

% BEH EAE 48 o] 105 19.0 86.0

¥ EHER BS 5] 53 110 24.0 86.0

31 M &% 53 49 102 15.0 87.0

38 Fith S 54 52 106 17.0 89.0
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